= >
N = 0 &8 AH Y H N AN
20228 & =& 1 3| XLAMNAEHSH M
SAM: oHE TH Dt
HH: MEOIESY o MBHZIA
S old2el & HH(XNE=MPSELZH) (e &)
2 A .2 (S H) - HEMNY - BHES 0] AFoH Iy H H &2
OF & TN L It 26,559,000 24,400,000 2,159,000
[= 110,447 80,447 30,000
Al 26,448,553 24,319,553 2,129,000
MEHSIE =R U MESEHNM 26,436,598 24,289,064 2,147,534
[ 80,000 50,000 30,000
Al 26,356,598 24,239,064 2,117,534
GtE 22 2 HH(XSMISLESH) 26,410,845 24,255,845 2,155,000
[ 80,000 50,000 30,000
Al 26,330,845 24,205,845 2,125,000
Bl&, AGIE AlEE Ze 11,240,660 9,145,660 2,095,000
201 LBt2AH 118,510 73,510 45,000
02 2224 56,470 11,470 45,000
0 zZz222 2 WA 56,470 11,470 45,000
O SIEANES(EMEZEE)MIIRS
6,000,000% * 6IHE 36,000 0 36,000
O GIEANES(EMELE)MGIEE 22
1,500,000 * 61 < 9,000 0 9,000
401 AlZHIZ =2 11,111,350 9,061,350 2,050,000
01 Al&HI 10,890,000 8,840,000 2,050,000
O EH XYata (2&)XF HElS3A
150,000,000 * 14l 150,000 0 150,000
O X0tH Autel SAE GHA ZHIS A
200,000,000 * 14l 200,000 0 200,000
O 2HAMNAGHAEUISEHE (HF )= L X
sHcHIAEY 450,000,000 * 14! 450,000 0 450,000
[ SHE X20eAY 1,250,000 0 1,250,000
O OtEE = AH12l OHII& EHlI S A
100,000,00081 * 14l 100,000 0 100,000
O =529 222 HEAGHE U SA
60,000,0008 * 14l 60,000 0 60,000
O 4% 212l =HAGHE HUI3A
40,000,0008 * 14l 40,000 0 40,000
O gH sS&2 SE1AGHE Ul SAL
100,000,00081 * 14l 100,000 0 100,000
O HgH gx1e Z2d8d Ul SAM
60,000,0008 * 1Al 60,000 0 60,000
O 229 d=232 =340t JHISA
100,000,00081 * 14l 100,000 0 100,000
O HEH s U==3& U3 A
80,000,0008 * 1Al 80,000 0 80,000
O S&tH 322 S3stAcHE EHI S A
100,000,00081 * 14l 100,000 0 100,000
O UegdH 212 HEd HUISAH
80,000,0008 * 1Al 80,000 0 80,000
O L&A 282 &3240& FHISAM
70,000,000 * 1Al 70,000 0 70,000




A QA Y
t

X{ XH - AH
S =

£9: ot

SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
O Z0t¢ el HHeEd HHI3A
80,000,000 =+ 14l 80,000 0 80,000
O #H8 &=1c| E=A0tE EHISAM
100,000,000& * 14 100,000 0 100,000
O XNl 24e| 294568 MY ELSA
60,000,000& = 14l 60,000 0 60,000
O 2&d dttiel ol AstE HHISA
40,000,000 = 14l 40,000 0 40,000
O Ued Astel dabAstd HHISA
100,000,000& * 14 100,000 0 100,000
O s¢te &Fel 2Actd HHIEM
50,000,000 = 14l 50,000 0 50,000
O B¢H HED S5 ZHISAM
30,000,000& = 14 30,000 0 30,000
ot & ZHIALS 160,000 100,000 60,000
< 80,000 50,000 30,000
Al 80,000 50,000 30,000
401 Al HI X 201 160,000 100,000 60,000
< 80,000 50,000 30,000
Al 80,000 50,000 30,000
01 A& HI 160,000 100,000 60,000
O =283 ¥ ZHIALY  30,000,000& * 1A 30,000 0 30,000
=) 15,000 0 15,000
Al 15,000 0 15,000
O 2+=XN&= HAHAY 30,000,000& = 14 30,000 0 30,000
< 156,000 0 15,000
Al 15,000 0 15,000
A=At ololbl (XA SESE3IH) 25,753 33,219 AT ,466
0l Bl Bl 25,753 33,219 AT,466
801 OilHI 8l 25,753 33,219 AT,466
01 Brollditl 25,753 33,219 AT ,466
0O oilBlbl 2 & 25,753,000 25,753 33,219 AT ,466
MHRES(XAIESEE3AH) 11,466 0 11,466
SBEXNE(X=ASEE3AH) 11,466 0 11,466
SBEXNE(XMSELSH) 11,466 0 11,466
802 gHE = DI EF 11,466 0 11,466
01 I DEBXSE= 11,466 0 11,466
O =Jtotdm N EAMY 4t gta s
11,466,000& 11,466 0 11,466




